Name Period

HW 2-2 .
Secl Solving Inequalities Unit 2

Solve each inequality and graph its solution.

1. 2x<16 -———
10 -3 -6 4 2 0

2. —1 <5X+2X At} —>
7 -6 -5 -4 -3 2 -1 0 1 2 3

3- 5X_3<_3+5+7X_7 "‘: T T : T T T T : :)’“
6 -5 4 3 2 -1 0 1 2 3 4

B S S S S — —
44X —2>3X+5+X 6 -5 4 3 2 -1 0 1 2 3 4

5.6—3x-10+x<-2x-3 -t —
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Name Period

HW 2-2

Secl Solving_j Inequalities Unit 2
Solve each inequality and graph its solution.

1. -2x<16 -——tttt
10 -8 -6 4 2 0

2. —( <5x+2x -~
7 -6 -5 4 3 2 -1 0 1 2 3

3. 5Xx—3<-3+5+7x-7 B S S S — —
6 -5 4 3 -2 -1 0 1 2 3 4

e S B S T ——_— —
4.4X—2 >3X+5+X 6 -5 4 3 2 1 0 1 2 3 4

5.6—3x-10+x<-2x-3 Aty —
6 -5 4 3 2 -1 0 1 2 3 4



. —32+6X < 2(8x—6) Attt —t >
6 -5 4 -3 2 -1 0 1 2 3 4
-——
. 5(3x+3) >105 4 5 6 7 8 9 10 11 12 13 14
X -~
. ——+5<6 6 -5 4 -3 2 -1 0 1 2 3 4
2
1 i + } t + } + } ' + ——
. —X=32-3 10 -8 6 4 2 0
Answers
All Real Numbers No Solution X > —8

X> -2
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X>6 Xx>-1

-

Y

6 5 4 -3 -2 -10 1 2 3 4 4 5 6 7 8 9 10 11 12 13 14 -6 -5 4 -3 -2 -1 0 1 2 3 4

X>—6 X>—2 Xx>1

.
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10 8 6 4 20 6 5 4 3-2-10 1 23 4 6 5 43 2-10 1 2 3 4




. —32+6X < 2(8x—6) -ttt >
6 -5 4 -3 -2 -1 0 1 2 3 4
= t —t—
. 5(3x+3) >105 4 5 7 9 10 11 12 13 14
X -ttt ———+—+>
. ——+5<6 6 -5 4 -3 2 -1 0 1 2 3 4
2
1 i} et} >
. —X—=3>-5 10 -8 -6 4 2 0
3
Answers
All Real Numbers No Solution X > —8

X >—2 X>0 X>-1
‘:6 —IS 4II —‘3 —IZ —Il (I] i .;. SI :l’ ‘4'1 ; é ; ‘8 é 1|0 1[1 1I2 1|3 1'4r 1—I6 —IS —I4 —'3 —I?. —Il (I) i i 3I ;l
X>—0 X >—2 Xx>1

6 -5 4 -3-2-10 1 23 4




